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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2022-23

ECOACORO07T-EcoNoMICS (CCT)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
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Candidates should answer in their own words PSS FICSTa ST -1 ST NN N
and adhere to the word limit as practicable. Ceq P!

All symbols are of usual significance.

1. Answer any five questions from the following;: 2x5=10
fr=fafe @-ce «isf elvm Ter me:
(a) Define convex set with example. 1+1
TRIZITTR FACSH GG TR 7G|
(b) Show that homogeneity of any degree of the production function produces a 2

linear expansion path.

@S (@ BRAH FCHFE (F (ST NI TS 1Te] AP 7217 2426 SenalRe
1

(c) If the production function is x=AL*K?, where a+ <1, show that there is 2
decreasing returns to scale.

Tt Teslvied SorFE x= AL°K? |, @UE a+ <1, M8 @ Seqsie afewima
TR s R = |

(d) Why is a “global optima” also a “local optima”? )
GG NI FATR, “EAIPle S8 906 — P ?

(e) What do you mean by Nash equilibrium in game theory? 2
(5151 g W17 (Nash) S @108 6 @Iei 2

RS

() Explain the nature of time path y, =5'+4.

T AL y, = 5 + 4 -4 2SN TR

(g) Given the input matrix and final demand vector:
0.05 0.25 0.34 180
A=1033 0.10 0.12|and d ={200
0.19 038 0 90

N

explain the economic meaning of the clements 0.33, 0.38, 0, 90.
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0.05 025 034 180
1=lo33 010 oa2[wRd= 200
0.19 038 0 90
FEfERe Soimmefr adafes i es
0.33, 0.38, 0, 90. :
Suppose the following table is the final optimal table:
@ T iR GRa o weibwE GREe t
Row T X, % 5 52 Constan
0 1 0 0 2 I &
1 0 0 1 2 -l 2
2 0 1 o -l 1 2

What are the optimal values of %, X, and z?
X, X, 93 7 -8 Seifwie ww e <l

. 5x4 =20
Answer any four questions from the following:
R @@ 51 e Sea wes
Suppose the demand and supply functions fo
4@ T PICH T IR @ Caiafia Seore e 2

dpP
X, =4120-2P+5—
d {12 + dt}

r a commodity are given by 4+]

X, = {3P—30+50—‘£}—)}
dt

P is the Price at time f. If the initial price is Rs. 36,
What will be the price at r =107

P 20 ¢ ST W A el A 36 B 7, O R S o e et /= 10
2E W $O A ?

Consider the following Primal Problem

fea aiEse i [sa st

Maximize  3x,+4x,

find the time path of price.

Subject to  x;+x, <10
2x,+3x, <18
x <8
X, <6
X, X, 20
If the optxmfll solutlorT of the dual problemis y* =0, Pk :%, yi* ___%’ yF=0,
find out optimal solution to the Primal Problem.
4% S AHE S TG W pF =0, px =4 ,
2 »r=0, y —3a)’3*=%,y4*=0,men?ma
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© petermine the optimal mixed strategy ang
d v

1y T GRPIET 3 OV Sy fiefy oy

alue of the game

PlayerB

Player 4 4 1
2 3

4) Explain the concept of ‘domi ’
@ with an example. Inance property’ to solve a 3x3 two persons game
BRI (AT -9 e ey <

e 3
7S S G0 SRR SRS (s | ST @6 3% 3 Y6 CACTAG C1- a7 AT

¢) In a two sector economy, the input co- : .
( are given by: put co-efficient matrix and final demand vector

Find the optimal output level of two goods. Suppose that 0.2 and 0.1 are labour

co-efficient of two goods respectively. If L =100, will there be unemployment
in the economy?

@Cﬁai (P8 SLATOTe Sorwae szat ke @ pole Gif3wl (531 2418

03 0.2 50
A= —
[0.2 0.2} and & [50]’
Wm@ammqwm?wwﬁmmmmﬂﬂm
0.2 €0.1 13 L =100 =0 oR@ wifors & @ iag AP ?

i 2
(f) Find out the “Eigen vector” of the matrix [2 21] i

[i 2]} syife=fBa “Eigen vector”[G Acfa Ta@n

3. Answer any fwo questions from the following:

e @-ceie 7o eor TeT nles

(a) A revenue maximising monopolist requires a profit of at least Rs. 1,500. Her
demand and cost functions are P =304—2¢ and C =500+ 4q + 8¢q° . Determine
her output and price at that level of profit. Compare those output and prices with
profit maximising output and price.
e RaeTa it APl (@owEar) JESUCT 1,500 Bl =i e afw o
BIfEw TS @ A ST AECH P =304—2q 9K C =500+4qg +8q° =, o @
Sl €3 Al FTCed T PI SRATCE ﬁﬁmqewmwm?wwa
We@ammmwaﬁemmqewaﬁww
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10x2 =20

5+5
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(b) Describe a two-industry Leontief static open model stating clearly all the
assumptions. What assumptions are required to change to convert the open model

into a closed model?
T AT Frolm Srad v 9ol 13 ReRfiE AN 1o Feabace
TS I e | 7 R S siftema wm Mo b 75 N Afkids

RIEE
(c) Locate the pure strategy Nash equilibrium of the following two Person game.
HIPID @ CRP<IeT P Sy el weat
Low Moderate High
Moderate (—4,-1) @,-1) @, -4
High (1, 2) (1,-1) (1,—4)
(d) Solve the following LPP.
faeoe (iR cetanfiiiGa sgm e
Min C = 18u + 8u, + 14
Subject to uy iy +2u; 21

Sup+uy +uy 22

Uy, iy, 1y 20

8+2
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